02103/01203/P01203

2017 (Odd)
Time : 4 Hrs. Sem. 1 /11
BED
Full Marks : 80
Pass Marks : 26

Answer all 20 Questions from Group-A, each question carries 1 mark.
gu-A @ | UsHl & ITX T, UAF UsH & A9 137% T |
Answer all five questions from Group-B, each question carries 4 marks.
go-B & df= usHl & IX I, UAF 9 H A 4 9% T |
Answer all five questions from Group-C, each question carries 8 marks.
gu-C & dig el & IAY 2, UAH U9 & A9 § % B
All parts of a question must be answered at one place
in sequence, otherwise they may not be evaluated.

T UL &F G4l A H IAX TH &l SFE (AR HH H) B
Fifen, ST q FE A S FHA @ |

The figures in right hand margin indicate full marks

g gred ® 3k gUrie B gaAb ¥ |
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GROUP-A
1. Choose the most suitable answer from the following options.

(Faifas Iugdeaa famed ®Hl gAY ) -

(i)

(il

As per BIS, the largest size of drawing sheet designation

G frrefaa feRar strar 2

Elements of orthographic projection may be ...........
(@) Object

(b)
(c) Plane of projection
(d) All of these

Observer

AIHIT 9T B a2 |
(31) SATsSTEFE
(@) =2

(ii)

(ii)

3 02103/01203/P01203

(@) faerg aa
(®) =95 & 91|

In 1st angle projection left side view is show .............
(a
(b
(c
(d

Left to Elevation

Right to Elevation
Below Elevation

None of these

~— ~— ~— ~—

g T faaq F gt gred 3o ... faeman
ST 2

(37) Sfserg & ad

(@) Sfegv & 3

(W) Steeq & A=

(@) =% q Hg ALl

............ method of projection is recommended by BIS.
1st angle
2nd angle
3rd angle
4th angle

PTO
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(v)

(vi)

Hidden Lines are represented by ............. lines.
(a) Hatching

(b) Dotted

(c) Continuouns

(d)

d) None of these

In the 3rd angle projection the object is imagined to
be placed ............

(a) Below HP & behind VP

(b) Below HP & infront of VP

(c) Above HP & infront of VP
(d)

d) None of these.

I &IV 8T H ASIFE Bl ......... @ Hr
FHTIAT & STl © |

() &.9. & = oF 3.9. % 98

(@) &.a. & = od 5.9 B A

(@) &.9. % S ud 3.9. B A

(@) =9 & »Izg TS

(vii)

(vii)

(viii)

(viii)

5 02103/01203/P01203
Diagonal scales are used to represent ........... units of
measurements.

(@) Two

None of these

fepoft Y9 BT ITNT ... a9 & JiHe @B
frefag war 2

(1) =t

(@) =

(|) o5

(@) =8 & HE ALt

Eccentricity of an Ellipse is ................
(@) One

(b)

(c) more than one
(d)

Less than one

None of these

g B IEH=AT oeeeennn =
(37) o

(@) w® | *HH

(W) & & St

(@) =% q Hg ALl
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(ix)

Reference planes may be .............
(@) H.P.

(b)
(c) BothH.P. & V. P.
(d) None of these

(37) axferst aar

(&) =71 ad

(@) &.9. ud 3.9. Q=
(@) =987 & HE TL |

If a cone is Cut by a section plane parallel to one of the
generator then the Conic section is .............

(a) Ellipse

(b)

(c) Hyperbola
(d)

Circle

Parabola

e I fRel T AT & THMIY FHIel AEr & O

(xi)

(xii)

(xii)

7 02103/01203/P01203
Traces of a plane is
(@) point
(b)
(c) curve
(d)

st. line

None of these

3) A9 9 A8

A solid generated by the revolution of a Semicircle about
its diameter which is fixed is called-

(@) Cone

(b)

(c) Sphere
(d)

Cylinder

None of these

Ush FABJd Hl 36 X A & 9fd ga= 4§ 349
SARe B F

(37) 2t

@ sT=

(@)

(®) 379 & FE 7L
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(iii)

(i)

(xiv)

(xiv)

When a solid is Cut by a section plane inclined to its
base, the remaining portion obtained after removing the
top portion is called ...........

(@) Frustum of solid

(b) Truncated solid

(c) Prism

(d) None of these

S Uk SIE & 3D AR & A7 wHHAdA SR
FIST ATAT 2 a1 IYL A1 8 & q1E, I A9

a
b
c
d

Both (a) & (b)
None of these.

(a)
(b) Cylinders
(c)
(d)

AR @ e @ & g .. 7 fepar
ST 2
() orow
@) ==

9 02103/01203/P01203

@) (A)ud (=) ==

(@) =8 & HE FLt
(xv) Isometric length is equal to .......... True length

True length

NG 0

C) \/_% (d) None of these
(xv) —Q::E ......... &% IET Bl 2 |

NG @

) \/_% GESERSEIE T
(xvi) Which of the following is/are open conic - Curves ?

(@) Ellipse

(b) Parabola

(c) Hyperbola

(d) Both (b) & (c)
(xvi) Fr=1 § & 9 gam g% 87

(39) Ererga

(@) wm=

PTO
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(|) o1ei=
(@ (=) =0T (|) S=r

(xvii) Faces of prisms are ............
(@) Rectangles
(b)
(c) Triangles
(d)

Circules

None of these

(xvii) o9 &1 %9 .......... T g
(39) SATIATRR
(=) 7

=) %r‘grrnzﬁr{

(@) =8 & *HE TS|

(xviii) To obtain plan & elevation on a sheet, the HP is al-
ways rotated so that second and fourth quadrant are
alwasys ...........

(@) Opened.

(b) Closed
(c) Both (a) & (b)
(d)

d) None of these

(xviii) sfie 9¥ ergfaera ud Sfaara ot w3 & e &.9.
HI BHLT HAET AT & dif fada od aged 9=
BHAT .oooenn... Bl ST 2

(xix)

(xix)

11 02103/01203/P01203

(e7) ga
(@) ===
(@) (e7) o (@) ==
(®) =99 & g TEf

Auxiliary front view is drawn on an .............
(@) auxiliary inclined plane

(b)

(c) auxiliary Vertical plane
(d)

auxiliary Horizontal plane

None of these.

TeFsIfaeTd Ifgag ... g¥ Efiar Srar ®
(37) srardISiifrad 99 ad

(@) erdrshiferadt &1, qa

(@) AFHShad 3. ad

(® 399 & +H ALK

When plan and elevation of a st.line is equal & paral-
lel to xyline, line is ...............

(a) Parallel to HP & VP

(b) Parallel to HP & indived to VP

(c) Perpendicular to HP & parallel to VP

(d)

d) None of these

S A3 @M H AFFET ud Ifgea GyEx 8 ud

Xy XET & GHMEFIT & ar W ... 2
PTO
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(37) &.9. ud 3.9. B FEHMEFAR

(@) &.9. & g Td 3.9. & A9
(@) 4.9. & Tvad Td I.9. GHMERAL
(

g) 3TH § &3 TS |

GROUP-B

Answer all Four questions : 4x6=24
Al AR 9ol & I 2 |

2. Draw aplain Scale of 1cm = 5 metres & long enough to measure

upto 40 metres. show 38 metres on it.

13 =54dex &1 w9 g1 @i o 40 Jiex 9% =J19
% | 38 Hiew zguY i@y | 6

OR (3Terar)

Draw a parabola when the distance of focus from the directix is
60 mm.

ST wiFd A e LT A& & g 60 MH.Hl. B a1 usmes
e | 6
A point A is 30mm above HP & is in 1st quadrant. Its shortest
distance is 50mm. Draw projection of pt A.

wh g AT B SR IOHA. T iR ae e de 7 2 |
TEH gAaq g0 S0 AT B g Awr &g =ie ) 6

13 02103/01203/P01203
OR (steram)

A St.line AB 50mm long is parallel to HP and inclined at 30°
to VP. the end A is 20mm in front of VP and the line is
30mm above HP. Draw the projection of St.line AB.

50 .51, @ O Y@r AB&1.9. & MR 91 3.9, B
3009 B | g BIY AS.d. & 20 . . | ® qer 3@
F.9. & 30.d1. I 21 39 Gxa @1 AB &1 fgaig
=g | 6

Aregular pentagonal lamina of 40 mm side has its plane vertical
and inclined 30° to VP. Draw its projections when one of its
sides is perpendicular to HP.

40 . #1 =TT 1 9=YS AT 99 35T 8 ud 3.9. & 30°
q9 2| 391 A8 EiE S s9Hl U 9S 8.9, 9
T 2 6

OR (steram)

Draw isometric view of a cylinder of base diameter 30mm &
height 50mm.

U daq g 30 .. ud 50 .. S o afrd
g9 did | 6

A square prism base 30mm side & axis 50mm has its axis
inclined at 45°to ground. It has an edge of base parallel to
ground Draw projections of the prism

PTO
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30 fr.+r. 9o wd 50 F.H1. @ o181 T AR SH Hl
3787 STHI & 45°9% 99 B | 9% STYR & TH T JHH
P GHHEFAT 2 | 29 fOrow &1 a8 o 6

OR (3Terar)

The major axis of an ellipse is 80mm & minor axis is 50mm.
Draw ellipse by concentric circle method.

uepEEg HT &rd oter 80 .. ud wgeter 50 HL.AT. B
=g ga Oty s dEga @l | 6

35mm long edge cube is resting on HP with one face inclined
30%to VP. It is cut by a section plane perpendicular to HP and
parallel to VP. cutting the cube at a distance of 10mm from the
axis. Draw top view and sectional front view.

5.1, Yo I 99 A.9. I © TR UTHh ®F 3.9. 9
3099 21 39 U HAd dd of .9, 9¥ I U 3.9. B
gAY 2, o1 & 10 L. 9¥ e 8T ear @
eTfaey ud wre Ifaaq i | 6

OR (3Tera)

A frustum of a square pyramid has its base 50mm side, tope
20mm side & height 70mm. Draw development of the lateral
surface of frustum.

15 02103/01203/P01203
iR faafie & e @1 ofemY @t st 50 f .. ® ug
STd st 20 .. qar HEE 70 AL B oheed &
XA TIHH BT &R i | 6

GROUP-C

Answer all Three questions : 3x12=36
Al 19 991 & IAX 2 1, ¢

1
7. Constrct a diagonal scale of RF=——to show metres and long

400
enough to measure up to 500 metres show 374 metres on this

scale.

1
ailﬂ.lzts.=4—00 T T faekReit Jum T ©ig S 500 Hiex a6
99 9% | 39 9¥ 374 dieY fREd | 12

OR (sTeran)

Draw a hyperbola when distance of focus and directrix is
60mm, eccentricity is 5 Draw tangent and normal to the
curve from any point on it.

Teh e Ee Saieh Bihd Ud fHesr A&l & &= @l gl
3
60 f&r.5f1. ud Ieh=ar E%I?{H% fopdl faeg ax wqsf e

ug STt 39 i | 12
PTO
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8. End A of a 70mm long St.line AB is 15mm above HP &

20mm infront of VP. End B is 50mm above HP & 60mm
infront of VP. Draw the projections of the St.line AB and

inclinations with HP & VP.

70 fiy.41. o= 939 I@r AB &1 siv A9, 15 f.fi.sux
qem 3.9. & 20 m.dr.ama 21 8ir B&.9. & 39T 50
fr.fy. ugd 3.9. % 60 .. gma & Txa I=m AB &

fag =" ud &.9. uF 3.9. 9 FgHE qd B 12
OR (steram)

Draw the projection of a hexagonal plate 25mm side having

one of its sides in HP and surface making 45° with HP.

25 f. 5. o7 &1 Teys @ q.9. 9T UH AES 9T UST 8
TR GXBT q.9. B 45° q¥ 99 B | 39 989 @) 12
A Cone of base 40 mm diameter and axis 65 mm has one of its

generators on the HP. Draw its projections.

40 P Y. = ud 65 .HT. oTeT & < 1 TH AR
&.9. 9X B | 3O fa8q = | 12

10.

17 02103/01203/P01203

OR (steram)

A Square pyramid edge of base 40 mm and height 70 mm has
its axis inclined 45° to HP. Draw its projection if one of its base

edge is on HP.

40 .51, oot wd 70 F.HT. SAmE @1 AT A T STe
q.9. 9 45°99 2| 39 a8y TiF ST g9 SATEY U
qa.49. 9 2| 12

A hexagonal pyramid of side 25 mm and axis 40 mm rests on
its base on HP with two base edges perpendicular to VP. Its
cut by a plane perpendicular to VP & inclined at 30° to HP
meeting axis at 25 mm from vertex. Draw Elevation, sectional

plan & true shope of the section.

25 .. ot ue 40 .51 3787 1 Ueh WeeHS s &
d. IX 39 IR ©ST ¢ % 39@ & o 39 3.9. I} T
2138 I.9. W aEad od A.9. § 30097 a7 9 39 THK
HeT AT & 6 a8 wRead 9 25 H.fl. o) e 21
Sfaely, e STgfaely ud aredidqes a<m i | 12
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1.

OR (31&ram)

A Square pyramid of base 20 mm & Weight 40 mm rests on
its base on HP and two side of base parallel to VP. It is cut
by a plane bisecting the axis & inclined 45° to base. Draw

the development of lower part of cut pyramid

20 .5 1. o ud 40 WAl IR @ aneR |9 A9
AR IR &.9. I ©ST & Sdh 38 al ol 3.9. &
FHEMNY & 39 U&% a9 &R HET Sl & S oAl H
GAEANT HXar & ug 4.9, F 45°99 B 1 HS gU WU B
et B 1 faea =i | 12

Draw isometric projection of a sphere of radius 20mm
resting centrally on the top of a square prism of side 45mm

& 30mm height.

20 M. w1, Bo=r &1 M ek Brew g 45 AT
e 30 .. A @ WX ah=E1" =T 8 & 9t faeg
i | 12

19 02103/01203/P01203

OR (3Terar)

End A of St line AB is 20mm above HP & 30 mm infront of VP.
End B is 50 mm above HP & 55 mm infront of VP. the distance
between projietors is 60mm. Draw projection of St.line AB &

Find true length & show traces of St.line.

¥ YEm AB @ 81T Asr.g. & 20 .. Sux ud 3.9.
% 30 .. @+ & 8k Bar.g. & 50 .. Sux uF
3.9. % S5 .H. @HT T "ausm & &= H g 60
.. @ 9@ T@r AB @ faaig Ef9 ud ardfas ars

qem STgRE el | 12
* %%




